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SAINIK SCHOOL IMPHAL
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SUBJECT: COMPUTER APPLICATIONS (165) = CLASS X

Instructions:

e Question | should be written in the Computer Homework Notebook.

e Question Il should be done in A4 size paper. Please write only on one side of
the page.

e Minimum no. of pages required is 13 pages.

I. Answer the following questions

What do you mean by Remote login?

Name any two websites which are used to send emails.
What is the difference between HTTP and FTP?
Explain HTTPS.

Differentiate between website and web portal.
Mention some disadvantages of e-mail.

What are search engines?

Name any four website to find people on net.

9. Difference between Internet & www.

10. Difference between a server and a web server.
11.What are the components of a website?

12.What makes a webpage work?

13.What are the advantages of blog?

14.What are the disadvantages of blog?

15.Why TCP/IP is important?

16.How are TCP/IP and IP different?

17.Explain the components of SMTP.

18. Differentiate between HTTP & HTTPS.

19. Differentiate between FTP Server and FTP Client.
20.Explain how search engine works.
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[I. Write an assignment on the various Internet Protocols. The following
Protocols should be included:

- TCPIP
- SMTP

- POP3

- HTTP

- HTTPS
- SSH

- SFTP

- FTP

- SCP

- TELNET



The sequence of the assignment should be as follows:

- Cover Page

- Contents

- Introduction

- Explaining the various topics

Details are given below.

Cover Page

2nd Page

“Internet Protocols”
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Introduction

Introduction

(Write a short note on Inter Protocols in about
200 words)

TCP/IP

(Explain in detail about the TCP/IP in this page
in about 200 words.)

SMTP

(Explain in detail about the SMTP in this page
in about 200 words.)

POP3

(Explain in detail about the POP3 in this page
in about 200 words.)




HTTP

(Explain in detail about the HTTP in this page
in about 200 words.)

HTTPS

(Explain in detail about the HTTPS in this
page in about 200 words.)

SSH

(Explain in detail about the SSH in this page in
about 200 words.)

SFTP

(Explain in detail about SFTP in this page in
about 200 words.)




FTP ScCP
(Explain in detail about the FTP in this page in (Explain in detail about the SCP in this page in
about 200 words.) about 200 words.)

TELNET

(Explain in detail about the TELNET in this
page in about 200 words.)
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Vacation Homework
Class X Maths
Prepare neat and clean concept maps for the following chapter:
Real Numbers

Polynomials

Pair of Linear equation in two variables
Quadratic Equation

Arithmetic Progressions

Triangles

N o R hE

Co-ordinate Geometry

Sample concept maps are given below for your reference.



Real Numbers ®] €— Start From Here

N2
\'_\’ Im

Can't be represented as x = p/q,

Where p & q are integers and q # 0.
Decimal representation is non terminatin
& non-recurring.

Rational Numbers

1,1/2,-715...

Can be represented as

x = p/q, Where p & q are
integers and q = 0.

Decimal representation is
either terminating or
non-terminating & recurring

eg.48=2x2x2x2x3

Every composite number
can be expressed or :
factorized as a product of :

2x3x5x7

Tesshathg oMl Euclid division Euclid division | f:::::':f‘"
; n-Termina 'mg Lerqma Algorithm Arittanetie
3 v v v ‘
[ x= p/q | 25 rIf 'a’ and 'b’ are positive h '
and q#0 i x=p/q Gi yerss : 3 {
=i and 20 iven positive integers a integers such thata=bq+r,
(qisin "‘f : (q is not in the and b, there exist unique then every common divisor
&':";"r‘::‘z nsare form of2°5° integers q and r satisfying of 'a"and 'b’ is a common
ol rieguive where m, n are a=bq+r,0<r<b. divisor of 'b' and 'r’, and primes.
integers, then non-negalive vice-versa.
it is terminating !ntfagers. then & e e.g. HCF of 420 & 48 420 = 2 x
decimal) : it is i 420=48 x 8 + 36
3 : non- terminating 48=36x1+12 *
- =0.15 i deci%al) ~ 36=12x3+0 (
; eg. —-= 33 & = HCF.of 4204 48is12 | '
- — il e . — ‘A\—Y

: e.g. Check whether 6" can end with the digit O for any natural
number ‘n'.

Sol. Any positive integer ending with the digit zero is divisible
by 5 and so its prime factorization must contain the prime 5.

Some Important Results :

: 1.Let 'p' be a prime number and ‘o’ be a positive R

A\
\

eg48=2x2x2x2x3
420=2x2x3x5x7 ”

Application

LMD

\. [eq. 48z2x2x2x2x3

|/ 420:=2x2x3x5x7

| LEM=2x2x2x2x3x5x7
1 = 1680

integer. If 'p’ divides a’, then 'p’ divides 'a’.
2. HCF x LCM = Product of two numbers.
3. LCM is always divisible by HCF.

6'=(2x3)=2"x3"
= The prime in lhe factorization of 6" is 2 and 3.
= 5 does not occur in the prime factorization of 6" for any n.
1= 6" does not end with the digil zero for any natural number n.

=48 x 420

" — — — — -

. — "a. —

'H.CF. (48, 420) x L.C.M. (48.420)

(This is true for 2 numbers only)
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' QUOdm*iC polynomial . Cubic polynomial
fx)=ax'+bx+c — ~ f(x)=ax’+bx'+cx+d

v

An algebraic expression f(x) of the form @
fix)=a,+ax+ax +....... + a.x’, where
a,, a,, a;,...., a. are real numbers and all the
index of x are non-negative integers is called
polynomials in x and the highest Index nis
called the degree of the polynomial.

>/

It cuts x axis twice. It touches x axis.

r—\/"“\\
@? polynomial
p — \._/ p—

Doesn't cuts x axis, It cuts x axis 3 times.

NP, .
Factor theorem

A A

Division Algorithm
Aap

NCERT / X / Polynomial



Substitution method
ax+by+c, =0 i)
ax+by+c,=0 (i)
—Cy—byy

a,
Subslitute x in eq. (ii) and solve.

K

Elimination method
ax+by+c,=0 .(i)
ax+by+tc,=0 ...(ii)

From eq. (i) x=

x = D162 b2ty

a1, - azby S

=m&_l

Multiply b,in (i) & b, in (ii)
ab,x+bby+c b, =0 (iii)
b,a,x +bby+cb =0 (iv)
(3)-(4) ....
(a,b,-b,a‘,)x » (Clbt'ctbl) =0
x = D1€2 ~boCy y=82°1-81°z
ab; - a,b 8yb2 -850y

e.g. Six years hence a man's age will be
three times the age of his son and
three years ago he was nine times

as old as his son. Find their present ages.

Sol. Let man's present age be 'x' yrs
& son's present age be ‘y' yrs.
According to problem
x+6=3(y+6)
x—-3y=12...(i)
andx-3=9(y-3)
x—9y=-24... (ii)

On solving equation (i) & (ii)
x=30andy=6.

So, the present age of man = 30 years
and present age of son = 6 years.

Linear equam_

in two variables
ax+by+c=0
ax+by+c,=0

A1) 'Y
(2)

£

Q'_‘ B '—31‘.\_' —lp
@ods. to ‘solw’r:e_/ )

. v

/

\

-

\ AN

Algebraic method Graphical

method

Cross multiplication method

; b, * C|>y<70,>1< b,
‘ b:>< C; )nz b:
| X y 1

biczbsC  C9z -8  aibz-azb,

x = Di€2-bCy y=25"8C
ab,-ab, ap; -ab,

" P e W oo Y

quation of a

straight line
A Y

-

ax+by+c=0
{az0,b#0&a,b,ce R}

Solution (x,y) — point lying on

straight line.
: Y y=2x-4
—_—
2
X' 0 X
/
Y'

o N\
Condition of Solvability of System of Linear Equations
Intersecting :_' b Unique solution
(intersect at 1 point) : T2 (consistent)
Coincident <«———— % = % =21, Infinite solution
(Coincide) 2 (consistent)
\ Parallel S A-Bi.S N0 sdlution

-

/ Equations reducible
( to a pair of linear |

,equations,
3#3_—_13 .s._i_—_-

X y X y

Let

2 [ 2P‘ 3q =13
x Py~9 |5p-49:=-2

e.g. Solve the following system of linear
equations graphically : x—y =1, 2x+y=8.

(No intersection)

a2

b; ¢

(inconsistent)

Sol.()x-y=1 x 0 1 2
Xyl y [-1] o] 1

® ? =+8y_=2§ x 0 1 2

y 8 6 4

Solutionisx=3 andy=2

NCERT / X / Linear equation in two variable



Identities

AC’ ‘.'\

ABZ BC? . "
-A-ET+-A—6-2-=1 —sm'A + COS'A = 1 —
Ei*» 1= Ac? =cot’A+l = cosec’A 43—0"']
BC’  BC? l
BC2 AC? . .. Al ] T
+ = = = cC~
—erT W 1+tan’A = seC’A +—— = @ E
& | 3
N ©
£ c
Divide both sidesby] X 3
| A o
i Base(B)
e.g. If sin 30 = cos (0 - 6°) and : --p1 AB’+BC’=AC’_
30 and © - 6° are acute, find the 1§
value of 6.
Sol. sin 38 = cos (8- 6°) T-ratios |€¢=———==
= cos (90° - 368) = cos (8 ~ 6°)
= 90°-30=0-6° (.. _BC _P H
— 40 = 96° smA:-KE *H CoseCA=gE = p
= 0=24°
.28 B _AC H
e.g. If x = r sin® cosd, y = r sind SR ACT R SecA=7g B
sind, z = r cosO, then Prove
that:x' +y' + 2" = r', ~BC..P _AB_B
tanA-AB- B C°M‘Bc"'6

Sol. x = r sind cosd

y = r sin@ sing

Z=rcosp

xl + yl + z}

=r'sin’ 8 cos’ o + r' sin’ O sin’ ¢
+r'cos’ 0

=r’sin’ 0 (cos’ & + sin’ 0)
+r’ cos’ 0

=r'sin 8+ rcos’ 6

= r* (sin® @ + cos” 0)

=r

!

‘—————————————————————

-———————————————q

Interrelationship between T-ratios

1
COSA = ——

sinA =cosecA secA

Complementary Angles
" ~N
AB AB _AC
sin(90-A) = A tan(90-A)= g5 cosec(90-A)= e
AB AC
COsA = 3= cotA = % secA= 7=
_BC _BC SN AC
cos(90-A)= 7= | cot(90-A) =75 sec(90-A) = 55
. BC BC AC
SinA = — tanA = — cosecA = g&
L AC AB -

—=—-p{ Trigonometric Ratios of Some Specific Angles
0° 30° 45° 60° 90° I
5 1 LR (RS 1
2 2 2
V3 1 1
_ e _ 0
] 2 V2 2
1
0 B 1 J3 Not defined I
1
Not defined — 0
J3 1 N I
2 J2 Not defin
1 e 2 2 ot define
2
Not defined 2 A

Simplified trigonometric values

NCERT / X / Trigonometry



A

Similar
Triangles

Similarity Means 'Same shape’

theorem

eg. All circles are similar.
All squares are similar.

- Pythagoras

Some Important Results
1. The internal bisector of an angle of a triangle divides the opposite side internally in
the ratio of the sides containing the angle.
2. The diagonals of a trapezium divide each other proportionally.
3. Any line parallel to the parallel sides of a trapezium divides the non-parallel sides proportionally.
4. If three or more parallel lines are intersected by two transversals, then the intercepts
made by them on the transversals are preportional.
5. In any triangle, the sum of the squares of any two sides is equal to twice the square
of half of the third side together with twice the square of the median which bisects the
third side.
6. Three times the sum of the squares of the sides of a triangle is equal to four times the
sum of the squares of the medians of the triangle.

If As are similar
Then :

P A

Basic
Proportionality theorem
(THALES THEOREM)

NCERT / X / Similar Triangles



o
S e STATISTICS
Grouped
Cl of
R 1025 | 2540 | 4055 | 55-70 | 70-85 | 85-100
ntervals
NO. of
Students 2 3 7 6 6 6
| MODE
MEDIAN F
[ Modal Class: Class where frequency \
No. of [Cummulative | | is maximum
IMerals | swdents | frequency [ | Class size (h) = 15
10-25 2 2 T | Max. frequency f, = 7, Modal class = 40-55
' Lower limit of modal class = 40
240 3 5 | fo =3 (Previous class f value)
40-55 7 @ c = 6 (next class f value)
¢ 18 |
@70 ®[ Mod¢=(+[2""'°']xh =40+ 4/5x15 = 52
70-85 6 24 \ =6tz
" . i
sol | 8 » ] 3 Methods

| Median class : Class where c.f.
| is just greater or equal to n/2
n=30:n/2=15

55-70 is median class

lower limit of the median

class (r) = 55

¢ = cum frequency of

median preceeding class

xh =625

\Mcdlan-l*

n/l2-c
f

——y

mode = 3 median - 2 mean

E

Y B
Ungrow

ODE

The value of the
observation having
the max. frequency

MEDIAN

X, — observations
f.— frequencies

xl' xh

fu. fa,

\‘
Averoge of [ +1]m observahon N— nis even
o I #
—5 | observation. |gq—Jnisodd

Direct Method |

Step devmtlon li

Assumed mean method

(Frasha R=aed O\
|
R-Zf'x'-bz X=a-+ —|=62
» * =a+h 62| L >
|
X,--

hc::l { X x; d=x;-2a u= —4 fu, fdi

1025 2 17.5 a5 30 -2 4 -60

2540 3 325 97.5 -15 -1 3 -45

4055 7 475 3325 0 0 0 0

55.70 6 62.5 ars 15 1 6 )

7085 6 77.5 465 30 2 12 180

85100 6 92.5 555 45 3 18 270

20 1860 Y fu, =20 >id .435|

NCERT / X / Statistics



An equation of the form ax’ + bx+ ¢ =0,
where a,b.c are real numbersanda =0, is
called a quadratic equation in x.

Solution or Roots of Quadratic E
A real number « is called a root of the

quadratic equation ax’ + bx + ¢ = 0,a =0 if
ac’ +ba+c=0

NCERT / X / Quadratic Equation



Selection of Terms :
Taken 3 terms in A.P. :

(a-d), a, (a+d)

Taken 4 terms in AP. :

(a-3d), (a-d), (a+d), (a+3d)
Taken 5 terms in AP, :
(a-2d),(a-d), a, (a+d) (a+2d)

Arithmetic
:‘ Progressions

PROPERTIES

n" Term T.=a+ (n1)d.

Sum of 1" n terms of an AP. — S,

Sum of n Terms 520,+0,+0, +....+0,,+a,

S:=" [2a + (n-1)d] =" [a, + a].
2 2

eg If258,. . arein AP then

a=2andd=3
S. = 5 [2(2) + (25-1)3] = 950
2
Sum of n natural nos.
RESULTS m" term from end

1. If any nth term of a sequence is a linear expression
inneg.a = An + B, then the given sequence is an AP,

2. If a constant term is added to or subtracted from
each term of an A P. then the resulting sequence

Find A.P. whose n"
term is given ?

is also an AP, with the same common difference.

3. If each term of a given AP. is multiplied or divided
by a non-zero constant K, then the resulting sequence

is also an AP. with common difference Kd or
respectively. Where d is the common difference of

the given AP.

4. Inafinite AP. the sum of the terms equidistant from

Condition of an A.P.

the beginning and end is always same and is equal

to the sum of 1st and last term.

Find T, when S, is given

If 258... are in AP. \
a —q:=2—1"Term

a, »a,+d=5 - 2" Term
a,—»a+2d=8 - 3" Term

a. -+ a +(n-1)d = 74 - 25" Term

n(n+1)
2
eg. Sum of first

7 natural nos. = = =28

e ——
(n-=m +1)" term from start

LRE 8.
eg.S,=n"+2n
I A b o |

] If a, b, care 3 terms
of an AP. then:
a+c =2b.

NCERT / X / Arithmatic progression



Q(x..y;)
y“ /
(x,.y.)
P T(x.y,)
S »
| oo wo X

COORDINATE GEOMETRY
d

B

A(x,
m, _1B(x.y.) i
Cix,y.)
; (x..y,)
B
0 Q P R §(

-

[Appications } "

NCERT / X / Coordinate Geometry



Angle of
Elevation

o e ‘__I_‘__‘,_.PP‘
Angle formed by the line of sight with C
the horizontal when the point is above q&)‘)\,/” 'L

the horizontal.

Height of tower
BC=AB xtan b
(given AB & 0)

6 = Angle of elevation

The angle of elevation of the top of a tower, as seen from two points

A & B situated in the same line and at distances 'p' and 'q’
respectively from the foot of the tower, are complementary,
then show that the height of the tower is pq

H = : C A3
Sol. In AAOT, fan30°=— = X*T J3H () o =
oT _h A H+120 H+ 120 v \<
ARG E—E = ... | / R = i
na=gox 5 (U} , tan 60 . x B (D)
A.Jﬂ_ll From eq. (i) and (ii)
In ABOT h h — P ——) 3H=H=+120
==|an(90—u)=@ =aorcotu=_....(ii) = H = 60m
o . 8 Height of the cloud from the surface
Mulipling G andii), weheve of the lake = H + 60 = 60 + 60 = 120m
h_h %
- =—X—- = B =
= tan « cot « Sy = 1mog =h Jeq

Heights

& Distances ‘
Angle of
Applications " Depression
e o e
@ Navigation
B Loid s Angle formed by the line of sight ,  Horizontal
with the horizontal when the T J
@ Buildings point is below the horizontal. H
@ Optics J
% Height of tower I
@ Statics AB = tan . x BC
@ Crystallography (given o & BC) @ = Angle of Depression

g — g—————

The angle of elevation of a cloud from a point 60m
above a lake is 30° and the angle of depression of
the reflection of the cloud in the lake is 60°. Find
the height of the cloud from the surface of the lake.

NCERT / X / Height & Distance






o X Ny
 Sector of a circle |
\ J
\’\_/‘ N’ kv“‘\//
, “Major sector e
l/ \
/ ‘. o ]
\\ r. 0 r /
T —\—+—> Generally sector
AT777777 ,,r,»—* B implies minor sector
[
r Length of arc Area of sector
L ]
A :-—;-a;xZ;u' Aoap:w)oxxr’
eg. 0= r=3m eg. 0=60° r=3m
—  60° _ bo° 2
A --—x—o;xeXB Areo-moxnx3
=nm :3—‘"1
2
\ %
r
Area of segment (APB) =
Area of sector (AOB) - Area of AAOB
Note

1. If two circles touch each other externally, then the

distance between their centres is equal to sum of
their radii.

2. If two circles touch each other internally, then the
distance between their centres is equal to difference

of their radii.

is equal to the circumference of the wheel.

!
! 3. The distance moved by a rotating wheel in one r‘evolu‘fioni
i

- ——— - —— - -

o ———

-
AREAS RELATED TO CIRCLES k

Some Important Formulas :
1. Heron's formula : Area of a triangle = J/s(s-a)}s-b)(s-c
Where s = Semi-perimeter and a, b, ¢ are the sides of

the triangle.

f )

2. Area of a triangle = % x base x altitude

B,
T a.
4. Area of a rectangle = Length x breadth
6. Area of a square of side 'a' = a’.

3. Area of an equilateral triangle =

/J "_\‘Y' .v/' \v/ \k\
~ Area of combination
( of plane figures )

ﬁ\ A

’ il

\ /
\ > o P Nmad®

A

—

eg. A<—2units =>B

e

H C
Sol.

r+r+r+r=length of square
=4r=2; r=1/2
Area of shaded reg. = Area of square
- Area of 4 circl
=(2x2)-4x¥

7. Length of diagonal of a square of a side ‘a’ =/2a \ 4<%
8. Area of a parallelogram = Base x Height
9. Area of a rhombus = 151.d,.. ../
7/ Sol.
Where d. and d, are the lengths of its diagonals. ~ »*
et et i o i il ve Mol o o e Bee o« o BB Area of square ABCD = 10 x 10 = 100 cm’
Ar. (R)+ Ar. (R)
| €.9. e — 10 units —» = Ar. square - Ar. two semicircle of radius 5cm
! =100 - z(%n(s)z]= 100 - 25x
|
: Iv —
i I similarly Ar. (R,) + Ar. (R,)= 100 - 25
3 So, Area of the shaded region
| c ‘D = Ar. square - (Ar.R, + Ar. R, + Ar.R, + Ar.R,)
=100 - (100 - 25r + 100 - 25n )

ARSI Sy——-

= (50n - 100) sq. units ‘

NCERT / X / Area related to circle



Cuboid )

ocet T »

_ —

1. T.S.A — 2[lb +bh + hl]
2.C.5.A — 2[bh +hl]
3. Volume - I xbxh

4. Diagonal — f7 17 2

3. Volume — o'
4. Daogonal -—»‘/’j.

Y v Y \.
v \ Frustum of
| A A v
oy Sphere P S a Cone
A__A A F > . 1 A A A r
Cylinder 'Hemisphere,
/ G I\
A\ Bk -
’,‘/l \ i/ . 3y \‘. Q,\vr 1/'
/ hi \ Ny ]
a \ \¢ / ~—
AR A N
."A“""._T'q A, R \\ —
1. CSA=2nr
1. CS.A=arf, -nrr(i-{
1L.T.SA—nr(f+r) 1. T.5.A — 2xr(r+h) 1.CSA=TSA =4z 2. TSA. = 3nr e _";;'(m’_")(. n;:, o
2.CS5A - nar! 2.C.S.A — 2xrh 4 .T.SA.= 3 fer,
o 2. Volume = — rr’ 3. Volume = — nr’ ) AR G
3. Volume — %nrzh 3. Volume <> xr*h 3 3 3. Volume 3 zhir) +r. +rr.)
4. Slant height = /h? +(r, = 1,)?

NCERT / X / Surface area & Volume



} Elementary event (E) : \\ PROBAB'L'T:‘ qui’w 36 posibilities in throwing two dices imultaimously :
E Only one outcome E 2 " dice 1 2 3 4 5 6 ‘
s sum of the probabilities of all | 1 (1.1) (1.2) (1.3) (1.4) (1.5) (1.6) ‘
’ L

i elementary events is 1. ' 2 (2,1) (2,2) (2,3) (2,4) (2,5) (2,6) 1

\W 3 (3,1) (3.2) (3,3) (3,4) (3,5) (3,6)

B 4.1) 4,2) 4,3) 4.4) (4,5) (4.6)

,B.S.;'(E).f A S - 5 (5.1) (5.2) (5.3) (5.4) (5.5) (5.6)

P(E) N‘;,‘::,”;f;f‘g;f;’j:ﬁ::;:j 6 6 | 62 | 63 [ 69 [ ©5 | 68

\
L ‘ P - ‘
1 g !” Complim ; i P(E) = 1
! Applications : Complimentary Events(E) : Cerfom. event A ‘
Ex-al-iples E Gambling, insurance & statistics E Not E = E,P(E)=1-P (E) E imposmglg event P(E) = 0 E
o Sy ! control theory. y Incasel: jacasec: . '
Case -1) One dice is rolled: 4 : } P(sum 13) is impossible. '
P(1) = Probability of getting 1. : ! P(l):; ;pMy=1-1=8 ! hence, P (sum 13)= 0 :
Nemmssmeseceesseeeseeeeenaa- - 6 6 i '
pa1y=1 } P(T) = not getting 1 ‘ssssascanssansansssntsntaesf
6 )
)

Similarly P(2),P(3), P(4), P(5) & P(6)

s

6
P(E > 4) — Probability of getting
546.

e TT T

i

P(E < 4)
= P(1) + P(2) + P(3) + P(4)
42
83
P e

Sersmnmeneeeae---

o

= getting2,34,5and 6

___..-\\

Case -2) Two dice are rolled: :

'

'

E P(sum = 8) = Probability of getting |
E two numbers whose sum is 8.

]

Sum = 8 for

-

5
» P(sum 8) = %

(2.6)(3.5)(4.4)(5.3) (6.2)

4

s C
1]

ase -3) Box with balls :

} A box contains 2 black, 3 green
} and 4 red balls.

P b b b L

robability of picking
p black
(8)=2

9

-
Ve o

Zorm !

-

NCERT / X / Probabality




\

' CONSTRUCTIONS *

%

Triangle
Scaling

v

Division of a
line segment
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SUMMER VACATION HOME WORK: CLASS 10: SEC: A,B,C. SUB: MATHS
SESSION : 2024
The following are the extract from the NCERT Exemplar problems on Mathematics .
Attempt each of these questions sectionwise . Follow the serial number of questions sectionwise.
Sec-A
6. If two positive integers @ and b are written as
a ="y and b = xy'; x, y are prime numbers, then HCF {a. b) is
(A) xy (B) oyt (Cy  x'y? (D) x™y?

7. If two positive integers p and g can be expressed as
p=ab*and g = a*b; a, b being prime numbers. then LCM (p., g) is

(A) ab (B) a*hk? (C) a’k? (D a’b?
8. The product of a non-zero rational and an irrational number is

(A)  always irrational (B) always rational

(C) rational or irrational (D) one

9. The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is

(A 10 (B) 100 (Cy 54 (Dy 2520
: i . 4 . )
10. The decimal expansion of the rational number 1250 will terminate after:
(A)  one decimal place (B) two decimal places
(C) three decimal places (D) four decimal places

Sec-B

6. The numbers 525 and 3000 are both divisible only by 3. 5, 15, 25 and 75. What is
HCF (525, 30007 Justify your answer.

Explain why 3 > 5 % 7 4+ 7 is a composite number.

Can two numbers have 18 as their HCF and 380 as their LCM? Give reasons.

9. Without actually performing the long division, find if will have terminating

10500
or non-terminating (repeating ) decimal expansion. Give reasons for vour answer.

10. A rational number in its decimal expansion is 327.7081. What can you say about

»
the prime factors of ¢, when this number is expressed in the form ; 7 Give reasons.

Sec-C

10. Prove that \/§+J§ is irrational.

11. Show that 12" cannot end with the digit O or 5 for any natural number .

12. On a morning walk, three persons step off together and their steps measure 40 cm,
42 cm and 45 cm, respectively. What is the minimum distance each should walk so
that each can cover the same distance in complete steps?



Sec-D

Answer the following and justify:

(i)

(i)

(1ii)

(iv])

(vl

Can x* — 1 be the quotient on division of ©® + 2¢* + x — 1 by a polynomial
in x of degree 57

What will the quotient and remainder be on division of ax® + by + ¢ by
pt gl + e+ 5, p =07

If on division of a polynomial g {x) by a polynomial g (x). the quotient
is zero, what is the relation between the degrees of p (x) and g (x)7
If on division of a non-zero polynomial g (x) by a polynomial g (x), the
remainder is zero, what is the relation between the degrees of p (x)
and g (x)?

Can the guadratic polynomial «* + fx + & have equal zeroes for some
odd integer & = 17

Are the following statements “True’ or “False’? Justify yvour answers.

(i)

(ii)

(iii)

(iv)

If the zeroes of a quadratic polynomial ax® + bx + ¢ are both positive,
then a, & and ¢ all have the same sign.

If the graph of a polynomial intersects the x-axis at only one point, it
cannot be a quadratic polynomial.

If the graph of a polynomial intersects the x-axis at exactly two points,
it need not be a quadratic polynomial.

If two of the zeroes of a cubic polvnomial are zero, then it does not
have linear and constant terms.

Sec-E

For each of the following. find a quadratic polynomial whose sum and product
respectively of the zeroes are as given. Also find the zeroes of these polynomials
by factorisation.

-8 4 21 S
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(iii) —2\/5. -9 (iv) Zs/g‘ 3



Sec-F

Choose the correct answer from the given four options:
1. Graphically, the pair of equations
Gr — 3y + 10 =0
2x— v+ 992 =0
represents two lines which are

(A} intersecting at exactly one point. (B) intersecting at exactly two points.

() coincident. (> allel .

2. The pair of equations x + 2y + 5 = 0and —3x — 6y + 1 =0 have
(A0 aunigue solution (B) exactly two solutions

(C) infinitely many solutions (D) no solution

3. If a pair of ear equations is consistent. then the lines will be

(A0 parallel (B alwaws coincident
(C) intersecting or coincident (D) always intersecting

4. The pair of equations v = 0 and v = —7 has
LA one solution (B vwo solutions
() infinitely many solutions (D) no solurion

5. The pair of egquations x = a and v = & graphically represents lines which are
(A parallel (B) intersecting at {5, a)
() coincident (D) intersecting at (o, &)

6. For what value of & do the equations 3x — v + 8 = 0 and 6r — Ly = —16 represent
coincident lines?

L L
LA B (B) > C)y 2 (Dy —2
7. If the lines given by 3x + 2&kv = 2 and 2x + Sy + 1 = () are parallel. then the value

of & is
s 2 1s 3

CAD (B) 3 <y Dy

8. The value of ¢ for which the pair of equations cx — v = 2 and 6x — 2y = 3 will have
infinitely many solutions is

A 3 (B) — 3 Cy —12 () no value
9. One equation of a pair of dependent linear equations is —Sxr + 7v = 2. The second
equation can be
€AY 10x + 1y + 4 =0 (B) —10x — 14y + 4 =0
) —10x + 14y + 4 =0 (D) 10x — 14y = —4
10. A pair of linear equations which has a unique solution r= 2, v = —3 is
(A x4+ v = —1 (B) 2x + Sy = —11
2y — A -5 dx + 10y = —22
(C) 2 — v = 1 (D) v — ady —14 = 0
3x 4+ 2Zv =0 Sx —v — 13 =0

11. If x = @, ¥ = & is the solution of the equations x — v = 2 and x + v = 4, then the values
of a and & are. respectively

(A3 3 and 5 (B) 5 and 3
OCy 3 and 1 (I2) —1 and —3
12. Aruna has only Re 1 and Rs 2 coins with her. If the total number of coins that she

has is 50 and the amount of money with her is Rs 75, then the number of Re 1 and
Rs 2 coins are. respectively

(A) 35 and 15 (B) 35 and 20
() 15 and 35 (I3) 25 and 25

13. The father’s age is six times his son’s age. Four years hence. the age of the father
will be four times his son’s age. The present ages, in yvears., of the son and the
father are. respectively

€AY 4 and 24 (B) 5 and 30
Ty 6 and 36 (D) 3 and 24

Compile the previous years questions(CBSE Exams) for at least five years chapterwise. It should be
retained as personal copies of the cadets.
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Summer vacation assighment 2024-25

Subject : Social Science (Geography)

1. Draw three outline maps of India on A4 size papers and show the followings:

1°t map : (i) Bhakra Nangal dam

2" map :

39 map

(ii) Hirakud dam

(iii) Sadar Sarovar dam

(iv) Tungabhadra dam

(v) Mayurbhanjiron ore mine

(vi) Raniganj coal mine

(vii) Digboi oil field

(viii) Kalpakkam nuclear power plant
(i) Mumbai cotton textile centre

(i) Coimbatore cotton textile centre
(iii) Bokaro iron and steel plant

(iv) Bengaluru software technology park
(v) Pune software technology park
(vi) Noida software technology park

(vii) Vijaynagar iron and steel plant

: (i) Mumbai sea port

(i) Kochi sea port

(iii) Tuticorin sea port

(iv) Vishakhapatnam sea port

(v) Meenam Bakkam International Airport
(vi) Rajiv Gandhi International Airport

(vii) Raja Sansi International Airport



Class: X
Answer the following questions. Word Limits: 100 to 150 words.
CONSUMER RIGHTS

1. How does exploitation of consumers take place in the market? Explain with
any five facts.

2. “Consumer awareness 1s essential to avoid exploitation in the market place.”
Support the statement.

3. What is ‘Consumer Protection Act’? Explain any three reasons responsible of
enacting ‘Consumer Protection Act, 1986’ by the Government of India.

SUSTAINABLE DEVELOPMENT:

4. What is sustainable development, and why is it important for the well-being
of present and future generations?

5. What can you as an individual do to reduce your consumption of the various
natural resources?



HINDI



A Frefler rashrer & FrA
%am 10 (gudl) e

1) 93 oT§ WIEd 9IS A AT FrEU 1 Fel Fome AR o7 S oft @y A
fOEsT aFat & g3T |

2) TRRT & Ffaar 3k FeE / ey [_AfET

3) ArE A, HAETE & e R dd e A yraw FRAGr & A F1oR=T P Fw
Hiadr T IR 3} 379= erse) A ford |




MANIPURI



Sainik School Imphal

Vacation Home Work

Class: x

Subject : Manipuri
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Holiday Homework

Class 10, Sec-C
Subject-English
Q1. Write a book review on any of the books written by the following authors

Arthur Conan Doyle
Anton Chekhov
Rudyard Kipling

R.K Narayan

H.G. Wells

Ruskin Bond

Do o T o

Q2. Write the textual questions and answers of the chapter Nelson Mandela — A Long walk to
Freedom in your homework copy.

Q3. Write the summary of the poem Tiger in the Zoo along with the literary devices in your
homework copy.



SAINIK SCHOOL IMPHAL
SUMMER VACATION ASSIGNMENT
CLASS X-A&B (ENGLISH)
ACADEMIC SESSION 2024-25

Assignment-|

1. Explain the following literary devices in two or three lines with examples.

a.

o «Q

-~ ® o o T

Simile
Metaphor
Anaphora
Alliteration
Assonance
Symbolism
Imagery
Image
Paradox

Enjambment

. Transferred epithet

Irony

. Rhyme scheme

Onomatopoeia

Assignment-I|

1. Give two examples of each sub-kind of all tenses.

2. Give two examples of each of the following determiners.

Quantitative

Demonstrative

iii. Compound determiner (e.g. All the toys are broken)

3. Write all Modals in English with one example each.

4. i. Write rules of pronoun, adverb (words that show distance and nearness)

and tense of Reported Speech.

ii. Give two examples each of statement, question and imperative sentences

of Reported Speech.



Assignment-lll

5. Write a book review on any one of the following books.
i. The adventures of Huckleberry Finn by Mark Twain
ii.  The old man and sea by Ernest Hemingway

iii.  Why we can’t wait by Martin Luther King Jr.

BOOK REVIEW FORMAT

NAME OF CADET:
CLASS: SECTION: ADM NO:

Brief summary (50 words):

Comments or views or analysis (80 words):

Conclusion (30 words):
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Home Work For Summer Vacation

Class 10 Subject : Science

1. Draw ray diagrams showing the image formation by a convex lens and concave lens.

2. Write any two uses of each of convex lens and concave lens i.e. uses in our daily life
situations.
3. Draw and learn the following Diagram

(i) Fig 7.1 (a) Structure of neuro
(b) Neuromuscular junction

(i) Fig. 7.2 Reflex arc
(iii) Fig. 7.3 Human brain
(iv) Fig. 7.5 Response of the plant to the direction of light
(v) Fig. 7.6 Plant showing geotropism
(vi) Fig. 7.7 Endocrine glands in human beings

(a) Male (b) Female
(vii) Fig. 8.3 Reproduction in planaria
(viii) Fig. 8.4 Budding in hydra
(ix) Fig. 8.8 Combination of pollen on stigma
(x) Fig 8.9 Germination
(xi) Fig. 8.10 Human — male reproductive system
(xii) Fig. 8.11 Human — female reproductive system

4. Text question and answer along with the exercise for the chapter Chemical Reactions
and Equations

Note:
a) Use A4 size paper for vacation work.
b) Do your vacation work by yourself.

c) Writings and drawing of diagrams should be very good, neat and clean.



